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General Instructions :

Read the following instructions carefully and follow them :
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)
(1)
(iii)
()
(v)
(vi)
(vii)

This question paper contains 33 questions. All questions are
compulsory.

This question paper is divided into five sections — Section A, B, C, D
and E.

Section A - questions number 1 to 16 are multiple choice type
questions. Each question carries 1 mark.

Section B - questions number 17 to 21 are very short answer type
questions. Each question carries 2 marks.

Section C - questions number 22 to 28 are short answer type
questions. Each question carries 3 marks.

Section D - questions number 29 and 30 are case-based questions.
Each question carries 4 marks.

Section E — questions number 31 to 33 are long answer type questions.
Each question carries 5§ marks.

(viit) There is no overall choice given in the question paper. However, an

(i)
(x)

internal choice has been prouvided in few questions in all the sections
except Section —A.

Kindly note that there is a separate question paper for Visually
Impaired candidates.

Use of calculator is NOT allowed.

You may use the following values of physical constants wherever necessary :
c=3x10%m/s

h=6.63x 10734 Js

e=1.6x10"1C

Ho=4m x 1077 Tm A~

gy = 8.854 x 10712 C2 N1 m~2

1
e =9x 109N m2C2

Mass of electron (m,) = 9.1 x 103! kg.

Mass of neutron = 1.675 x 10727 kg.

Mass of proton = 1.673 x 10~27 kg.

Avogadro’s number = 6.023 x 1023 per gram mole
Boltzmann’s constant = 1.38 x 1023 JK~!
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(16 x 1 =16)

T HE&AT 1 ¥ 16 T Sg[ehed 1 ThR o 1 37eh o T & |

1.

T H foror ST S8 Hiek gem™
(A) e (B) ®=em
(C) srfafda wm (D) w&s e 3 R wem

Sn**/Sn2* M % U A= seiadis fawa +0.15 V 3R Cr3*/Cr 3w & foru =g
—0.74 V & | & I T Aok LT3 H ARG Beht Teh et o1 fmior o6t & | A
fava g

(A) +1.19V (B) +0.89V

(C) +0.18V (D) +1.83V

I SATEE! 56eh TIshUft I HaTT 3R hefta vl 9o & o1 a1 & | Crd* 3mM
(THTY] ShHTeh : Cr = 24) T J=IshUT UTH Feehld STl A 2|

(A) 2.87 B.M. (B) 3.87 B.M.

(C) 3.47 B.M. (D) 3.57 B.M.

3t KMnO,, §hTse ol SATHIehd ot &dl 8

(A) S,0%H (B) S,0%#

(C) SO, (e ¥ (D) SO% ¥

[Pt(NH,),CL,]*" %1 & [UPAC 79 2
(A) SEUEHSEFRIEAH (ID)
(B) sEUANSEFARE ™ (IV)
(C) SEUHSEFARE e (O)
(D) SEIHSEFAREIEe (IV)
frafaRaa Sfeni o1 3Tk T o Sed 3l H SATET &1 :
CH ?Hs
d) /CH—CHzBr (ii) CH,CH,CH,CH,Br (iii) H3C—(|)—CH3
CH;

Br
EEEDE
(A) (i) < () < (iii) B) () < (i) < (iii)
(C) (@) < (@) <) (D) (@) < @) < (@)
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SECTION - A (16 x 1 =16)
Questions No. 1 to 16 are Multiple Choice type questions carrying 1 mark

each.
1. In case of association, abnormal molar mass of solute will
(A) 1ncrease (B) decrease
(C) remain same (D) first increase and then decrease

2. Standard electrode potential for Sn*"/Sn2" couple is +0.15 V and that for
the Cr3%/Cr couple is —0.74 V. The two couples in their standard states are
connected to make a cell. The cell potential will be
A) +1.19V B) +0.89V
(C) +0.18V (D) +1.83V

3. The magnetic moment is associated with its spin angular momentum and

orbital angular momentum. Spin only magnetic moment value of Cr3" ion
(Atomic no. : Cr = 24) 1s

(A) 2.87B.M. (B) 3.87 B.M.

(C) 3.47 B.M. (D) 3.57 B.M.
4. Acidified KMnO, oxidises sulphite to

@A) S,0% B) 8,0%

(C) SO4e) D) SO%

5. The correct IUPAC name of [P’c(NHE‘)ZCl2]2Jr 18
(A) Diamminedichloridoplatinum (II)
(B) Diamminedichloridoplatinum (IV)
(C) Diamminedichloridoplatinum (O)
(D) Diamminedichloridoplatinate (IV)

6. Arrange the following compounds in increasing order of their boiling points :

CH, ?HS

(1) >CH — CHy,Br (i) CH;CH,CH,CH,Br (iii) H;C— ? — CH4
CH; Br

The correct order i1s

(A) (1) < () < (111) B) () < (@11) < (iid)

(C) (@i1) < (1) < (1) D) (@i1) < (1) < (1)

N\\NNNNANANANNANNNNNNNANANNANN
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7. et fgemmorieres gfaemem stfirfsran & o aTet Wfeshet daiTge § wftifera 8

(A) for=ma o1 gro (B) ffires firsror o1 s
(C) Tom=ma =1 Ifaedia (D) HISTEFTIA ST (10T
8. fTfafgadsraamed miadi a2 ?
(A) C,H,OH>H,0 >ROH (B) C,H,OH >ROH >H,0
(©) ROH > C,H,OH > H,0 (D) H,0 > C,H,OH > ROH

9.  Wifte AR SHTES 1 CO,, o AT AR i o TR IFA AT i T

T AT 37 2
(A) C,H,COOH (B) C,H,COOH
(C) CH,COOH (D) C,H,OH
10. TUAHTSE I T 1 gfafdd = o foe g8 3au sAfierdes 2

(A)  H, = A

(B) Siefr NaOH # Br,

(C) ATl HIThHITE shi IR T STRIEH
(D) 3H LiAIH,

11. f=fefaa o 9 M 91 A b & faw § 9 761 8 2
(A) ¥ TH TeRaEE 2 |
(B) HI & 1 TH o T IE -3 ST § |
(C) I& R €9 H 3uferd g # |
(D) ¥ Rrw-udieror TEi ear g |

12. 3R M o foTT T0eh < 975 forera & W@ T et W fpe a8, wiifeh
(A) TE TG % HRT A ITed hidT 2 |
(B) & IcshH TIEUT oh U1 ST @I eal 2 |
(C) & IcshH TRTERYT oh ST ST I <hidT @ |
(D) g YTHTT S HRT ed W &l § |
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7. Alkyl halides undergoing nucleophilic bimolecular substitution reaction

involve
(A) retention of configuration (B) formation of racemic mixture
(C) 1inversion of configuration (D) formation of carbocation

8.  Which is the correct order of acid strength from the following ?
(A) CzH,OH>H,0>ROH B) CzH,OH>ROH>H,0

() ROH > C,H,OH > H,0 (D) H,0 > C,H,0H > ROH

9. The acid formed when propyl magnesium bromide is treated with CO,
followed by acid hydrolysis is :
@A) C;H,COOH B) C,H,COOH
(C) CH3;COOH (D) C;H,OH

10. The best reagent for converting propanamide into propanamine 1is

(A) excess H,
(B) Br, in aqueous NaOH

(C) 1iodine in the presence of red phosphorus
(D) LiAlH, in ether

11. Which of the following statements is not true about glucose ?
(A) Itis an aldohexose.
(B) On heating with HI it forms n-hexane.
(C) It exists in furanose form.
(D) It does not give Schiff’s test.

12. An unripe mango placed in a concentrated salt solution to prepare pickle,
shrivels because
(A) 1t gains water due to osmosis
(B) it loses water due to reverse osmosis
(C) 1t gains water due to reverse osmosis
(D) 1t loses water due to osmosis

56/1/1 ~7 ~ P.T.O.



13.

14.

15.

16.

TR HEAT 13 © 16 % 7T, g1 e QU MU & — A Tk i 3AReReH (A) 79T g8L ol

FTT (R) 510 3ifehd fora T 2 1 39 el % wE s AR fow il 4), (B), (C) 3R

(D) T & IR G :

(A) ANRYT (A) 3R SR (R) AT T & 3T HROT (R), 31f7eped (A) i T& =men
HIE |

(B) FfirepYd (A) 3R RV (R) GHI HEl €, Wrg %01 (R), AR (A) =l wel
ST el HTeT ¢ |

(C) e (A) HEl 8, T HRYT (R) T 2 |

(D) BT (A) TeTd B, T HT (R) HEl € |

AEE (A)  : [Cr(H,0)4]Cl, a8 [Fe(H,0),]CL, B HHel o I 2 |
%R (R) : G1g < G121 e Teft fofiig Ush U & 2 |

ANFRAT (A)  : Ufoehed Beigel o doreHish i s i Eed & : RI> RBr > RCI>RF |
SR (R) : Ufchdl FOIRISS, SMTES 3R SARIISRE & FaYHTh o SAfugew
SEIHT SITel BTSGIehTsH ohi gorT 3 kT J1freh Bldl € |

ANHAT (A)  : TAATSA h1 FaUHTH HATFEHHAT § 316 BT 2 |
%I (R) : U H 3d: U gIgeior S BT 2 |

SRYT (A)  : TEEHH % sfafem avft o w9 & I SH 9 oW st

{01 Euieh B1d ¢ |
&R (R) : JFRTST WTehfereh ¥ & UTC ST arel WY o7l § L-fa=ma gar 2 |
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For questions number 13 to 16, two statements are given — one labelled as
Assertion (A) and the other labelled as Reason (R). Select the correct
answer to these questions from the codes (A), (B), (C) and (D) as given

below :

(A) Both Assertion (A) and Reason (R) are true and Reason (R) is the

correct explanation of the Assertion (A).

(B) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the

correct explanation of the Assertion (A).
(C) Assertion (A) is true, but Reason (R) is false.
(D) Assertion (A) is false, but Reason (R) is true.

13. Assertion (A) : [Cr(H,0)4]Cl, and [Fe(H,0)4]Cl, are examples of
homoleptic complexes.

Reason (R) : All the ligands attached to the metal are the same.

14. Assertion (A) : The boiling points of alkyl halides decrease in the order :
RI > RBr > RCI > RF.

Reason (R) : The boiling points of alkyl chlorides, bromides and
iodides are considerably higher than that of the

hydrocarbon of comparable molecular mass.

15. Assertion (A) : The boiling point of ethanol is higher than that of

methoxymethane.

Reason (R) : There is intramolecular hydrogen bonding in ethanol.

16. Assertion (A) : All naturally occurring a-amino acids except glycine are

optically active.

Reason (R) : Most naturally occurring amino acids have

L-configuration.

56/1/1 ~9 ~ P.T.O.



17. (A) RO TN : 1+1=2)
(a) SRR~ H @HT U1, el S (FETel) Sl Goill H o Biefl 2 |
(b) I X 3N ga Y i e W, giomfl foeam o1 Aas 0 & ST 2 |
gl e Teee % Frem 4 fore TR w1 fieem evlar ® 7 ga X 3R Y
! et o oTe 3119 19 | 1 Iiaas Sfard i 2

AYAT
(B) Tereemeft &1 qfenfyd i | TSee & 99 o FoncAs fome & 68 TR &1
et s 8 ? Tk Igrer i | 2
18. T=fetfaa wamafTes arfiertor i quf ud Tgfera Hife : 2

(a) 2MnOj(aq) + 10I (ag) + 16H" (aq) —>

(b) Cr,02 (aq) + 6Fe?*(aq) + 14H (aq) —>

19. T 37 U Hd ¢ b TUAet hl o H siuifceargs ARttt Jnre Afufshenati #

JAteren Jrfferamsficr = om Srfferamsfiar g 2 379 ST =E il | 2
20. fr=fefea v sgswa srfufshan @ A 3t B & gam S 1+1=2)
() CH,CH,c1-NaCN, , H/Mi 5

NaNO/HCL ~— CgH;NH,

(0 CoHNH,—5—Zoo— A—S2

21. D-hI i FHATAREd SATREhT o A1 SRR htd W EH arelt AR faRa :

1+1=2)
(a) HCN
(b) Br, v

56/1/1 ~ 10 ~



SECTION - B
17. (A) Give reasons : 1+1=2)
(a) Cooking is faster in pressure cooker than in an open pan.

(b) On mixing liquid X and liquid Y, volume of the resulting
solution decreases. What type of deviation from Raoult’s law is
shown by the resulting solution ? What change in temperature

would you observe after mixing liquids X and Y ?
OR

(B) Define Azeotrope. What type of Azeotrope is formed by negative
deviation from Raoult’s law ? Give an example. 2

18. Complete and balance the following chemical equations : 2

(a) 2MnOj(aq) + 10I (aq) + 16H"(aq) —>

(b) Cr,02 (aq) + 6Fe?*(aq) + 14H (aq) —>

19. Would you expect benzaldehyde to be more reactive or less reactive in

nucleophilic addition reactions than propanal ? Justify your answer. 2
20. Identify A and B in each of the following reaction sequence : 1+1=2)
() CH,CH,c1-NaCN, , H/Mi 5

NaNO/HCL ~— CgH;NH,

(0 CoHNH,—5—Zoo— A—S2

7

21. Write the reactions involved when D-glucose is treated with the following
reagents : 1+1=2)

(a) HCN
(b) Br, water

56/1/1 ~ 11 ~ P.T.O.



22. A H T (HIeR ge99H = 180 g mol™)) & Tt &1 #¥qes 100.20 °C B |
36t foerM o fgurk <1 oMT L | O % fog, K, 3R K, Aiee (Rrs s
1.86 K kg mol~! 3 0.512 K kg mol1 & |

23. (a) T =l TmemsT
() AT o T JTOTH BT IS HIH
(i) U o ferepd-3taee 1 yum frm
(b) =l feu T E° A i STANT <hid §U, STfert shif foh Hearor Teht <h ferw e bt
g T A o FoIT b -41 98 8 3T A |
femng: By =-2.36V,

Egopy = —0.14'V,

[o]
Y

E =-044V

]c.;‘e2+/Fe

24. ig ANGRAT 300 K W 20 fie T 50% Tof & St & 3R a@t arfufskan 350 K ™
5 fire § 50% qoi &1 St & | Afg g rfirforan wem whife i & af |fsharoT St 6t o
HITT |

[R =8.314 J K1 mol!; log 4 = 0.602]

25.  3d TehAT Uil o Il 39 TR e T & 1+1+1=3)

Sc, T1, V, Cr, Mn, Fe, Co, N1, Cu, Zn
frfefaa s s & -

(a) HRHE

o

M2t

(b) <hIF T dcdl +2 TN HTEAT H Teh T&ed T & I T 2
(¢) ZnZ%* o TIEH BId &, F91 2

Mmmww@mm%,mﬁ?
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SECTION - C
22. A solution of glucose (molar mass = 180 g mol™!) in water has a boiling
point of 100.20 °C. Calculate the freezing point of the same solution. Molal
constants for water K; and K, are 1.86 K kg mol! and 0.512 K kg mol!

respectively. 3

23. (a) State the following : 3
(1) Kohlrausch law of independent migration of ions and

(1) Faraday’s first law of electrolysis.

(b) Using E° of X and Y given below, predict which is better for

values

coating the surface of iron to prevent corrosion and why ?

Given EX2+/X =-2.36V,
EY2+/Y =-0.14V,

E =-044V

o]
Fe?t/Fe

24. A certain reaction is 50% complete in 20 minutes at 300 K and the same
reaction 1s 50% complete in 5 minutes at 350 K. Calculate the activation

energy if it is a first order reaction. 3

[R =8.314 J K1 mol!; log 4 = 0.602]

25. The elements of 3d transition series are given as : 1+1+1=3)
Sc, T1, V, Cr, Mn, Fe, Co, N1, Cu, Zn

Answer the following :

o

(a) Copper has exceptionally positive EM2+/M value, why ?

(b) Which element is a strong reducing agent in +2 oxidation state and
why ?

(¢) Zn?" salts are colourless. Why ?

56/1/1 ~ 13 ~ P.T.O.
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26. (A)

B)

27. (a)

(b)

28. (a)
(b)

(©

56/1/1

frefafad s srfufsrn & fofe y@ dFTee See A e sEd : (1+1+1 = 3)

CH, - CH.
(a) Cl
©\ +HBr —— ?
(b) CH,
OH
/©/ HCLw™
) HO — H2C

CLE
I hY TN DT ? (3x1=3)
(a) ARSI bl STShA H
(b) WHH B 1-A=SIH
(0)  2-STHIH Bl gg-2-51 |
ffetfiaa Rfirent bt 37 FaUIH & Igd o T Hafedd o : (1+2=3)
(CH,),NH, CH,CH,NH,, CH,CH,0H
fferiga & & v o fote Tuferd wrsieror €ife -
() AR s WAt i Afsaer Afemrse Sveivor & & SHRI S wehT |
(i) WHTEE, WA 6l goiT H A AR Bd & |
Tehd T 3R frehd TIEH H 1 3T 2 2 1+1+1=3)
frferfied § & &1 a1 T SdsUze § 2
T o I o ToTu STerft faeftm sl | g 2

(c



26. (A) Draw the structure of the major monohalo product for each of the
following reaction : 1+1+1=3)

CH, — CH.
/©/ . " Bry, Heat 5
(a) Cl
©\ +HBr ——?
(b) CH,

OH
() HO-HyC

OR
(B) How do you convert : Bx1=3)
(a) Chlorobenzene to biphenyl

(b) Propene to 1-Iodopropane
(¢) 2-bromobutane to but-2-ene.

27. (a) Arrange the following compounds in increasing order of their boiling
point : 1+2=3)
(CH,),NH, CH;CH,NH,,, CH;CH,OH.

(b) Give plausible explanation for each of the following :
(1) Aromatic primary amines cannot be prepared by Gabriel
Phthalimide synthesis.
(11) Amides are less basic than amines.

28. (a) What is the difference between native protein and denatured protein ?
1+1+1=3)
(b)  Which one of the following is a disaccharide ?
Glucose, Lactose, Amylose, Fructose
(¢)  Which vitamin is responsible for the coagulation of blood ?

N\\NNNNANANANNANNNNNNNANANNANN
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FrfTad SR JehtuT TG e 8 | TR=sg i S e qiey 3R ST 7Y WeHi & I
IS

29. EEfes fufRam w1 o =1 1 i $h1s AW H AThIEh i Higdl | HH! AT 3cATE hi
Tigal ¥ gfg o 9 H e o strar 2 | tffshan ot 3 rfirerrent st wefa, srfiepreni
6 HigaT, qIHH, IS hi U, fehrent & ¥ Sawet 3 yehrer i 3uferf
et spear 2 | arfrforen w1 3 Srfvreemen <6t digar @ we Gt gian 7 | o e A g
fop arfurfera w1 o digar gai W v et & e W sAffshan o1 o areaa # el st
2, ST T TRITIeTR ®9 § @1 T @ | 9 e stfreatad § stfirenren! 1 wigar i ardi
& I k1 AMHAT h1 Rife e ST 2 Sefe wh it stfufsear § wm oF areft
Tftofi sht EE S e SATfsha T i % foT U a1 Teee et 8, SAtafsh
1 STTUehT HEetTdl 2 |

(@) (1) ofuRpue®Te? 1+1=2)
(i) wifeet Irffsran w1 aitiya Hifse |

(b) o feorTeh WX T <1 AT HUTE ULl & ? 1
gt
(b)  3fveerar sheet afies sfufsrenai & fote & =i vy arct & Srefes wife wmfis
3R Ao SAfTsRan G o TeTe AR BH & 2 1
(¢) X HY H SR et sbife it semieehl o 31789 gar & | Jfg X <Al Figar
@ T S S A Y o fwior g9 S A o e g ae 2 1
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SECTION -D

The following questions are case based questions. Read the passage

carefully and answer the questions that follow.

29. The rate of a chemical reaction is expressed either in terms of decrease in
the concentration of reactants or increase in the concentration of a
product per unit time. Rate of the reaction depends upon the nature of
reactants, concentration of reactants, temperature, presence of catalyst,
surface area of the reactants and presence of light. Rate of reaction is
directly related to the concentration of reactant. Rate law states that the
rate of reaction depends upon the concentration terms on which the rate
of reaction actually depends, as observed experimentally. The sum of
powers of the concentration of the reactants in the Rate law expression
is called order of reaction while the number of reacting species taking
part in an elementary reaction which must collide simultaneously in
order to bring about a chemical reaction is called molecularity of the

reaction.
Answer the following questions :
(a) (1) Whatis arate determining step ? 1+1=2)
(1) Define complex reaction.
(b) What is the effect of temperature on the rate constant of a reaction ? 1
OR

(b) Why is molecularity applicable only for elementary reactions
whereas order is applicable for elementary as well as complex

reactions ? 1

(¢) The conversion of molecule X to Y follows second order kinetics. If
concentration of X is increased 3 times, how will it affect the rate of

formation of Y ? 1

56/1/1 ~ 17 ~ P.T.O.
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30. S~ 9 ¥ I8 OH THg % Joa AlshIU THIG o HR0T HiHTA SEHT § Soragi--
yfereemm sifufsramd <o € | If6 OH g o— 3 p— feuferli W soidei oca i
Ak weTaT B, gy OH &g 7l 3 S Féwres g 2 | Usm-dw gevgirht
gferemaa SAfrfsran o 3eTetor U 8 U 2 | formeh gy hiFter i winfes ot 1 gegifaad
g 1 AT feurfa W ufeeaTse 9y SO R ST © | I8 U 9T 9 B S el o
AT} I o ToTQ STgerd shi ST 2 |

Fraferfad wet & s G
(a) oI BIAT & 98 T 1 & 3Tffshn sar @ 7 2
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31. (A) (a) Tfafed & fow oo rfufsran foifaw qem 298 K T 8«1 &1 e.m.f.
gftesfora Hifse B+2=5)

Sn(s) | Sn2* (0.004 M) || H* (0.02 M) | H,(g) (1 Bar) | Pt (s)

(g : By o, =014V, E% gy o) p = 0.00V)
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30. Phenols undergo electrophilic substitution reactions readily due to the

strong activating effect of OH group attached to the benzene ring. Since,

the OH group increases the electron density more to o— and p— positions

therefore OH group is ortho, para-directing. Reimer-Tiemann reaction is

one of the examples of aldehyde group being introduced on the aromatic

ring of phenol, ortho to the hydroxyl group. This is a general method used

for the ortho-formylation of phenols.

Answer the following questions :

(a)

(b)
(©

(©

31. (A)

56/1/1

What happens when phenol reacts with
(i) Bry/CS,
(i) Conc. HNO,

Why phenol does not undergo protonation readily ?
Which is a stronger acid — phenol or cresol ? Give reason.
OR

Write the TUPAC name of the product formed in the Reimer-

Tiemann reaction.

SECTION - E

(a) Write the cell reaction and calculate the e.m.f. of the following

cell at 298 K : B+2=5)

Sn(s) | Sn2* (0.004 M) || H* (0.02 M) | Hy(g) (1 Bar) | Pt (s)

n?*/Sn —

~ 19 ~ P.T.O.



(b) Tr=faiad % Hro adEy

31. B) (a)

(b)

(i) E°#AHI % AER W, O, 19 TS T Yo gHI =Y, Wfehd Tt
NaC! & foga 319eeq # Cl, 79 g Bl @ |

(i) TR T CH,COOH ! =Terehdl HH &l T 2 |
FAgan

T RIS Sl < ITANT < QR BH aTel] UATS 3R TS HATHTRATE 3R Fwm
T AR fore | (2+3=5)

0.01 M K,Cr,0.(ag), 0.01 M Cr3*(aq) 3R 1.0 x 10* M H*(aq)
et e T o Tt fawa it omT R |

AT Ml &

Cr,0% (aq) + 14H*(aq) + 6e” —> 2Cr3*(aq) + TH,0())
3 A goile fawa E° = 1.33 V fean man 2 |

[feam = 2 - log 10 = 1]

32. (A) T=faRgd s s : 5

56/1/1

(a)
(b)

(©
(d)

(e)

T SISk IqShoTehId Hepel T el S ?

Yoo foite <hi 3ufedfa § Co2* SEMT & Co3* # Afaefishd &1 ST 3 |
[aeaTe] & Co = 27]

[Co(NH,)4] [Cr(CN),] EFe1 GRI fohH TehT 3h1 HHTSIAT GR11E STl @ 2
[Ni(H,0)4]%" &1 focted g0 @i giar @ s [Ni(CN), ]2~ 1 foere
T BiaT 8 7 (N1 shl T0HTY] Tt = 28)

frefetRad g%a @1 IUPAC 9 foifEe

[Co(NH,),(CO,)]CI



OR
31. (B) (a) Write the anode and cathode reactions and the overall cell
reaction occurring in a lead storage battery during its use. (2 + 3 =5)
(b) Calculate the potential for half-cell containing 0.01 M
K,Cr,0-(aq), 0.01 M Cr3* (aq) and 1.0 x 10~ M H*(aq).
The half cell reaction is
Cr,02 (aq) + 14H*(aq) + 6e” —> 2Cr3*(aq) + TH,0())
and the standard electrode potential is given as E°=1.33 V.
[Given : log 10 = 1]
32. (A) Answer the following : 5
(a) Low spin tetrahedral complexes are not known.
(b) Co?" is easily oxidised to Co®" in the presence of a strong ligand
[At. No. of Co = 27]
(c0 What type of isomerism is shown by the complex [Co(NHj)]
[Cr(CN)g] ?
(d) Why a solution of [Ni(H2O)6]2+ is green while a solution of
[N1(CN) 4]2‘ is colourless. (At. No. of Ni = 28)
(e) Write the IUPAC name of the following complex : [Co(NH,),(CO,)]CI
OR
N\ \N\ANNNANNNANANNANANANANN
56/1/1 ~ 91 ~ P.T.O.

(b)

Account for the following ;

(i) On the basis of E° values, O, gas should be liberated at
anode but it is Cl, gas which is liberated in the electrolysis
of aqueous NaCl.

(i) Conductivity of CH;COOH decreases on dilution.
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32. (B)

33. (A)

33. (B)
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(a)
(b)

(©

(b)

“hicte THE B T A & 2 Teh 3eeUl ST | 2+2+1=5)
[Fe(CN)4]* 1 HehlUT Udl Freieh 1Y FegR (oAfey |

(9] §AT : Fe = 26)

af¢ PtCl, - 2NH,; AgNO, % |1 JfsRa &l shtar &, i 6! 37 &

g ?

frferiaa araor i : (2+3=5)
() T H -2

(i) NHIEH 3T § T

aTfoeres g C,H, , ATl Th TeshH A SIS 3T98ed T 31 At B 37k C

1 figor e 8 | i B eeTenss Biel qdie e @ 3 gy 3t

NaOH forer % @ «ff siffsrn star 2 | Aiftes C Wi wherr 78 <ar &
Aferd SRS s=1dT 2 | Afies A, B 3R C <Al 8= shifsre |

AYST

Tsh el Alfieh (A) (3AM0h T CgH , 0,,) I dF HeH(teh 3T o &1 Sfel
T Hich HETadcIeh A (B) 3R Teshigiad (C) I g7 | (C) T shifieh
3Tt % H1Y SRR S TR (B) ST 3 | Fstefientor W (C) s3¢-1-349 a1 ? |
(A), (B) 3R (C) ! Tg=THT qT Bifelfd HANITHIT3T o foTu TEmafes gfietor
fefam | 5




32. (B) (a) What is meant by ‘Chelate effect’ ? Give an example. (2+2 +1=15)
(b) Write the hybridization and magnetic behaviour of [Fe(CN)6]4‘.

(Atomic number : Fe = 26)
(¢c) If PtCl, - 2NH; does not react with AgNO,, what will be its

formula ?

33. (A) (a) Carryout the following conversions : (2+3=5)
(1) Ethanal to But-2-enal
(11) Propanoic acid to ethane
(b) An alkene A with molecular formula C,H,, on ozonolysis gives
a mixture of two compounds B and C. Compound B gives
positive Fehling test and also reacts with 1odine and NaOH

solution. Compound C does not give Fehling solution test but

forms 1odoform. Identify the compounds A, B and C.
OR
33. (B) An organic compound (A) (molecular formula CgH,,0,) was
hydrolysed with dilute sulphuric acid to get a carboxylic acid (B) and
an alcohol (C). Oxidation of (C) with chromic acid produced (B). (C)
on dehydration gives But-l-ene. Identify (A), (B) and (C) and write

chemical equations for the reactions involved. 5

56/1/1 ~ 93 ~
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